1. If it's cyclical, draw the cycle
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EU Steel production: cycle (s.a., cma 12)
3. Cycle: Seasonal and random variation removed
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Randorm variation is removed by taking 12 month moving average
Quer 2 year, monthly random variation's ups and downs cancel
each other and cycle is revealed
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EU Steel production: seasonally adjusted (s.a.)
2. Seasonal variation removed - Random variation left
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4. Standard presentation form: Cycle + Seas. adj. monthly values
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Drawing the cycle

Preparing the data

If you do not monitor the cycle with right methods, you only react to events. You do not see
in your data the critical phase of beginning downturn and in upturns, you are a half year
late instead of one quarter ahead.

First, you have to make the cycle visible. In cyclical branches, you can see the cycle
already in level development — no need to use y/y-growth presentation as for GDP.

Seasonal adjustment and smoothing of your raw data reveal the cycle (previous page).
Seasonal adjustment removes the systematic variation that appears regularly in year’s
seasons: holidays, short/long months, summer/winter, year-end practices, seasonal
production schedules, etc. It makes the months comparable. Smoothing reveals longer
term tendencies.

Using statistical methods and long enough historical data you can draw the cycle month-
by-month for your business, your customer industries and industrial end-users. You can
identify the factors behind the changes, whether it is growing imbalance in supply chain,
weakening end-user demand or loss of market share.



The turning point

The crucial and hardest thing is to decide if turning point is being formed. The cycle
normally goes only up or down, and the graphs show the development month by month.
The question is when are you convinced. Normally 3 consecutive month-on-month
movements in same direction in the seasonally adjusted data is enough. Sometimes the
rule is ‘3 out of 4’ if one month’s change is exceptionally strong. One monthly value up is
random variation, twice up is still common random variation, three times up begins to be
a trend — the probability is 83%. And it is seen already in the cycle graph. The ‘rule of 3’
has been in use since biblical times.

These rules concern return to normal from unusually high or low position vs long term
trend line (next page) or from bullwhip cycle extremes (pp 6-10). If a new normal is
developing, deeper analysis of driving forces is needed.

Note: For industry’s suppliers, cycle is presented with production volume data - sales data is seldom
available. For consumer products, use their sales volume when possible.
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The Bullwhip Effect
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Bullwhip variation through business cycle
Upstream supplier’s production variation vs end-customer industries’:
- Ordinary steel producer vs construction&auto+3others: x2-3
- Special steel producer vs auto&machinery: x3-4
- Micro chip producer vs industrial end-users: >x4

More on Bullwhip: 20charts.com, Chapter 3. Inventory cycle and Bullwhip
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OECD Steel Market supply vs End-User Production / Jun 2008

Construction 30%, Machinery 25, Vehicles 20, Metal goods etc 25

125 Q1: Chinese exports to OECD halved y/y. OECD increased output; market
considerably oversupplied with high cost material - highly unstable conditions. Apr-
Jul: Chinese exports up again adding to market supply.
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e OECD Steel Market supply vs End-User Production / Nov

Index 2000 = 100. Logarithmic scale.

Construction 30%, Machinery 25, Vehicles 20, Metal goods etc 25

Commodity steel market was heavily overstocked with high cost material. Aug-08
became the tipping point. Global Q4 output down 20% y/y.
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""OECD Steel Market supply (Jun) vs End-User Production (May)

Index 2000 = 100. Logarithmic scale.

Construction 30%, Machinery 15, Vehicles 20, Cons. durables, Metal goods, Energy 35

Very high inventories at peak in Aug08. In -09, slower correction than in EU. Market
bottomed out but risk of too rapid production increase. Upturn in OECD construction
activity not in sight in coming 1-2 quarters. China turned into a net importer in Q2.
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Index 2000 = 100. Logarithmic scale.
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OECD Steel Market supply (Nov) vs End-User Production (Oct)

Construction 30%, Machinery 15, Vehicles 20, Cons. durables, Metal goods, Energy 35

Market bottomed out but {00 much supply mainly from deveioping nations (BRIC).
China turned into net exporter in Aug. Reached one million tons in Nov,
government likely to intervene if growth continues.
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